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Answer Coding Sheet USING BLACK BALL POINT PEN.

4. The Answer Coding Sheet and Hall Ticket (Invigilator copy alone) should be
returned to the Invigilator as soon ag the Exam time is over and Carbon
copy of the Answer Coding Sheet along with Question Booklet should be
taken by the candidate.

5. For each correct answer 1 (one) maﬁ"k will be awarded. For every wrong
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1. The Dutch captured and returned
Puducherry to France by signing

a. The treaty of Ryswick in 1699
b. The treaty of Paris in 1763
c. The treaty of Paris in 1815

d. The treaty of Versailles in 1919

2. “Swatantram”, a tamil daily was
started in the year
a. 1934 b, 1947
c. 1928 ., d. 1943

3. The last French commissaire in
India was

a. Charles Frangois Marie Baron
b. Charles Chambon
André Ménard

&

d. Georges Escargueil

4. The pottery found in Arikanmedu

was of origins

a. Roman b. Greek

c. French d. Egyptian
- B. The French traveler who was the

personal physician at the court of
the Mughal emperor Aurangzeb is

a. Francois Bernier
b. Jean-Baptiste Colbert
c. Cardinal Richelieu

d. Frangois Caron
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Kannagi Puratchi Kaapiyam was
written by

a. Bharathiar
b. Bharathidasan
c. Prabanjan

d. Kalki

The list of coded instructions is
called

a. Computer Program
b. Algorithm
c. Flowchart

d. Utility program

Which airlines on 19 Jan 2014
flew Boeing 777 plane powered by
Bio-fuel?

a. Etihaad airways
b. British airways
c. US airways

d. Singapore airlines

In the Environment Performance
Index (EPI) released on 25
January 2014 ranked out of 178
countries, India was ranked as

a. 140th b. 155t

c. 135th d. 170t

samewdl yplélsd srubuwbd  eearp
Broe audual

a. urgfury

b. uryfgreen
c. Qyugpsen
d sad

AL afanpssodsared ger
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b. ApHlapen
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d. vwerewiy fréd
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The “race of my life” is the
autobiography of?

a. P.T. Usha

b. Shiny Abraham
c. Usain Bolt

d. Milkha singh

India has offered US § 150
million of credit for project exports
for establishing a special economic
zone at Sittwe in?

a. Afghanistan

b. Myanmar
c. Sri Lanka
d. Nepal

Kerberos and Styx are the moons
of?

a. Uranus

b. Neptune
c. Pluto
d. Jupiter

The early tsunami warning
system was installed recently at
Rangachang in

a. Daman & Diu ‘

b. Andaman & Nicobar Islands
c. Lakshadweep

d. Pudhucherry
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Reserve Bank of India uses
reverse repo rate to?

a. Reduce the fiscal deficit

b. Increase liquidity of commercial
banks

¢. Increase liquidity in the

market

d. Absorb liquidity from commercial
banks

‘Forint’ is the currency of which
country

a. ‘Suriname

b. Iceland
c. Hungary
d. Croatia
Who among the following

archaeologists excavated the
famous city of Mohenjo Daro?

a. Daya ram sahni
b. R.D. Bannerjee

c¢. M.S. Vats

d. Y.D. Sharma

Along which of these river did the
Vedic civilization flourish

a. River Indus ‘

b. River Gaggar

River Saraswati

o
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amdl YGerCGarrsd AGum
dlfissms aspE LwaTLBSEADE ?

a. B0 uppréGepew

fla&feu

GOPUUSHG

b. aails anfdsdieCu uard
Hpsssms fsfés

c. spegliler LemlPEssds
sPsfés
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a. &fprb
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d. @Grrélur

QursegpegsrCrrana  spaymiFs
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ca. gwm gmd Fsref

b. R.D. urerjg

c. M.S. aigav

d. Y.D. sjwor

aps Pnher sarsdia  Cag
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a. fpg

b. s&si

c. speveud
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18.  Which of the following Vedas deals
with the procedure of sacrifices?
a. Yajur Veda
h. Rig Veda
c. Atharva Veda
d. Sama Veda
19. Name the source from which
litmus solution is obtained
a. Base
b. Virus
c. Acid
d. L_ichens
20. Factory wastes contains
a. Acids
b. Bases
c. Neutrals
d. None of the above
21. The tendency of a liciuid drop to
contract and occupy minimum
area 18 due to
a. Surface tension
b. Viscosity
c. Density
d. Vapour pressure
PON14VAQ
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a. wgrey Gaghd
b. fla Cagd
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a. &my
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c. Qe

d. urfliyees
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A hollow sphere of radius R, a
hollow cube of side R and a
thin circular plate of radius R ,
made up of same material are
all heated to 20°C above room
temperature. When left to cool
in the room, which of them will
reach the room temperature
first

a. Circular Plate

b. Cube

c. Sphere

d. All of them will reach room
temperature at time.

A black hole is a body in space
which does not allow any
radiation to come out. This
property is due to its

a. Very small size

b. Very large size
Very high density

d. Very low density

When a mirror is rotated by an
angle @, the reflected ray will
rotate by

a.) 0°

c.) @

b) /2
d) 20

Which one of the following is
paramagnetic nature?

a. Iron b. Hydrogen

c. Oxygen d. Nitrogen
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23.

24.
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26. Which one of the following does a
TV remote control unit use to
operate TV?

a. Light waves
b. Sound waves
c. Micro waves
d. Radio waves
27. Which one of the following
- elements 1s essential for the
construction of nuclear reactors ?
a. Cobalt
b. Nickel
c. Zirconium
d. Tungsten

28. Most of the explosions in mines
occur due to the mixing of
a. Hydrogen and Oxygen
b. Oxygen with acetylene
¢. Methane with Air
d. Carbon Dioxide with ethane

29. Acid rain is caused by the
pollution of environment by
a. Carbon Dioxide and Nitrogen
b. Carbon Monoxide and Carbon

Dioxide
Oxygen and Carbon Dioxide
d. Nitrous oxide and Sulphur
Dioxide
PON14VAOQ
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Which one of the following
organisms can serve as bio
fertilizer for rice crop?

a. Blue green algae
b. Rhizobium SP
Mycorrhizal fungi
Azotobacter SP

£

e

Given below are the names of four
energy crops. Which one of them
can be cultivated for ethanol

b. Maize
d. Sunflower

a. Jatropha

c. Pongamia

A pesticide which is a chlorinated

hydrocarbon is sprayed on a food
crop. The food chain is : Food crop
— rat — snake- hawk. In this food
chain, the highest concentration of
the pesticide would accumulate in
which one of the following?

b. Rat
d. Hawk

a. Food crop -

¢. Snake

Many transplanted seedling do
not grow because

a. The new soil does not contain
favourable minerals

b. Most of the root hair grip the
new soil too hard

c. Most of the root hairs are lost
during transplantation

d. Leaves get damaged during
transplantation

30.

31.

32.

33.
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. “The

nutritional deficiency
condition that needs to be given
top priority for remedial action in
India today is

a. Scurvy
b. Rickets

c. Xerophthalmia
d. - Pellagra

The blood glucose level is

commonly expressed as
mm of HG

a.
b. milligram per deciliter

c. parts per million
d. gram per litre
The marine animal called

‘Dugong’ which is vulnerable to
extinction is

a. amphibian
b. bony fish
c. shark

d. mammal

A sandy and saline area is the
natural habitat of an Indian animal
species. The animal has no predators
in that area but its existence is
threatened due to the destruction of
its habitat. Which one of the
following could be that animal

a. Indian wild buffalo
b. Indian wild ass

Indian wild boar

.

d. Indian gazelle
PON14VAQ
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a. mm HG

b. mg/dl
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38. Corporation tax:
a. Is levied and appropriated by
the states
b. Is levied by the union and
collected and appropriated by
the states
c. Is levied by the union and
shared by the union and the
states '
d. Is levied by the union and
belongs to it exclusively
39. The Employment Assurance
Scheme envisage financial
assistance to rural areas for
guaranteeing employment to at
least
a. 50 % of the men and women
seeking jobs in rural areas
b. 50% of the men seeking jobs
in rural areas
¢. One man and one woman in a
rural family living below the
poverty line
d. One person in a rural landless
house hold living below the
poverty line
40. Debenture holders of a company
are its
a. Share holders
~b. Creditors
c¢. Debtors
d. Directors
PON14VAO
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Which one among the following
industries 1s the maximum
consumer of water in India?

Engineering

a.
b. Paper and pulp

e

Textiles

d. Thermal power

Scheme of (I) Urban Micro-enterprises
(IT) Urban Wage Employment and
(ITI) Housing and Shelter
Upgradation are parts of

a. Integrated Rural Development
Programme

b. Nehru Rojgar Yojana
Jawahar Rojgar Yojana

d. Prime Ministers Rojgar Yojana

In terms of value which one of the
following commodities accounted
for the largest agricultural exports
by india during the three year
period from 1997-1998 to 1999-
20007

Cereals

Spices

a
b. Marine products
c
d. Tea

Among the following which one
has the minimum population on
the basis of data of census of india
2011?

a. Chandigarh
c. Pudhucherry

b. Goa
d. Sikkim

41.

43.
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46.

Which one of the following ports
of India handles the highest

~ tonnage of import cargo?

"a. Calcutta
b. Kandla
¢. Mumbai

d. Vishakapattinam

What is the system of governance
in the panchayat raj set up

a. Single tier structure of local
self government at the village
level

b. Two tier of local self
government at the village and
the block levels

c. Three tier structure of local
self government at the village
block and district levels

d. Four tier system of local self
government at the village
block, district and in the state
levels

47. The speaker can ask a member of

PON14VAO

the house to stop speaking and let
another member speak. This
phenomenon is known as

a. Decorum

b. Crossing the floor

c. Interpellation

d. Yielding floor

45.

46.

47.
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48. The name of the famous person of
India who returned the
knighthood conferred on him by
the British Government as a token
of protest against the atrocities in
Punjab in 1919 was
a. Tej Bahadur Sapru
b. Ashutosh Mukhérjee
c. Rabindra Nath Tagore
d. Syed Ahmed Khan

49. Where were the Ghadar
revolutionaries, who became
active during outbreak of the
World War / based?

a. Central America
b. North America
c. West America
d. South America

50. Which one of the following
aroused a wave of popular
indignation that led to the
massacre by the British at
Jallianwala Bagh?

a. The Arms Act

b. The Public Safety Act

c. The Rowlatt Act

d. The Vernacular Press Act
PON14VAO
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51. For the Karachi session of Indian
National Congress in 1931
presided over by Sardar Patel,
who. drafted the Resolution on
Fundamental Rights and
Economic Programme?

a. Mahatma Gandhi

b. Pandit Jawarharlal Nehru
c. Dr. Rajendra Prasad

d. Dr. B.R. Ambedkar

52. Quit India movement was
launched in response to
a. Cabinet Mission Plan
'b. Cripps Proposals
¢. Simon Commission Report
d. Wavell Plan

53. Which among the following was
the first municipal corporation set
up India in the year 16877
a. Madras Municipal Corporation
b. Bombay Municipal Corporation
¢. Delhi Municipal Corporation
-d. None of the above

‘54,  In 1953, under whose
chairmanship was the first OBC
Commission formed?

a. Joachim Alva
b. Kaka Kalelkar
c. Hardekar Manjappa
d. K.K. Shetty
PON14VAOQ
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1931apih pe® SiST) U

uLGre saeewvile pLbs GbiHw
Csdw sradgfler syredl wIHT G
Sl uenL 2 fle@waar DD M LD
Qurgerngsry S sHparer Sjorarsms
erplwary wmj?

a. warswr srHi

b. ueangys gajapjeored Cpm
c. Dr. grCgpfly Gyeng

d. Dr. B.R. @ubCugsry

“Qaid@awCar QaeiCup” Quisd
aspE aHyTs gessiulLg?

a. SewFsraal SigsEE W
b. dfliev FIgEGW
C. FWLE FIHIEG W

d Gaad S

@rfwreile pgargpepurs 16870
gar® Hpaiulc orpsyrlé

a. Qeenenar

b. ubumi

c. Sadl

d. Cupsremumea o

1953 g1d = CH w5 E w
Apu@SsHIuCLIT QeeRTwib, Wrgl
soo@vliar p o marssiiulLg?

a. Ggréfld yaoeanr
b. a&rar srCaas]

anfCL&] wEpElUT
d. Gs.Cs. Qely




55. Consider the following events of

Indian National Movement

1. Gandhi Irwin Pact
1. Poona Pact

. Karachi Session of Indian
National Congress

iv. Individual Satyagraha.

Select the correct chronological
order of the events from the codes
given below:

Codes
a LIILILIV b. ILIILIV,I
¢ JIEEV,ILT d. IV,IILILI
56. In Los Angeles, a political

PON14VAO

candidate who buys saturation
radio advertising will get
maximum name recognition.

The statement above logically
conveys which of the following?

a. Radio advertising is the most
important factor in political
campaigns in Los Angeles.

b. Maximum name recognition
in Los Angeles will help a
candidate to win a higher
percentage of votes cast in the
city. '

c¢. Saturation radio advertising
reaches every demographically
distinct sector of the voting
population in Los Angeles.

d. For maximum name recognition,
a candidate need not spend on
media channels other than
radio advertising.

$5.

56.

Spssrg@d arerpn Hspejsoar

sflurer  sreoaflesiuy Csiq

Q&lwey

1L srpd @refler @uiupsd

1. yerm @uubsd

. @pdwu Csflu sraflgfler syréd
wrBrH

iv. gefiiulL ssHurdysd

a LIILILIV.
c. IILIV,ILI

b. IILIILIV,I
d. IV,IILILI

In Los Angeles, a political
candidate who buys saturation
radio advertising will get
maximum name recognition.

The statement above logically
conveys which of the following?

a. Radio advertising is the most
important factor in political
" campaigns in Los Angeles.

b. Maximum name recognition
in Los Angeles will help a
candidate to win a higher
percentage of votes cast in the
city.

c¢. Saturation radio advertising
reaches every demographically
distinct sector of the voting
population in Los Angeles.

‘'d. For maximum name recognition,
a candidate need not spend on
media channels other than
radio advertising. '




57. Having attended the office
procedures course all employees
are expected to what they
had learned and introduced into
their daily routine
a. Reinforce b. Respond
c. React d. Resource

58. Choose the wrong part in the
sentence. Are / you involved / in
this project? / are you?

a. Are

b. you involved
c. in this project
d. are you

59. Choose the wrong part in the
sentence. Mahavira / was / a
advocate / of non violence.

a. Mahavira

b. ‘was

c. a advocate

d. of non violence

60. Try as many languages
as possible.

a. learnt b. to learn
c. learn d. learning

61. Select the odd one out:

a. Judge b. Chamber
c. Tennis d. Lawyer

62. Replace the underlined word with
synonym: The President was
given a hearty welcome.

a. Cold b. Warm
c. Warmly d. Cordially
PON14VAO
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Having attended the office
procedures course all employees
are expected to what they
had learned and introduced into
their daily routine

b. Respond

d. Resource

a. Reinforce
¢. React

Choose the wrong part in the
sentence. Are / you involved / in
this project? / are you?

a. Are

b. you involved
c. 1in this project
d. are you

Choose the wrong part in the
sentence. Mahavira / was / a’
advocate / of non violence.

a. Mahavira

b. was

c. a advocate

d. of non violence

Try as many languages
as possible.
a. learnt b. to learn

¢. learn d. learning

Select the odd one out: _
b. Chamber

d. Lawyer

a. Judge

c. Tennis

Replace the underlined word with
synonym: The President was
given a hearty welcome.

a. Cold b. Warm
c. Warmly d. Cordially



Don’t worry. It's

63. safe. You
won't fall. -
a. finely b. deeply
c. fully d. completely
64.. The future will be shaped
by technology.
a. merely b. specially
c. largely d. purely
65. It is true that education is
becoming global.
a. exactly b. reliably

c. certainly d. fully

Answer the questions after reading
the passage given below:

Sometimes we went off the road and on
a path through the pine forest. The floor
of the forest was soft to walk on; the frost
did not happen as it did in the road. But
we did not mind the hardness of the road
because we had nails in the soles and
heels. Nails bit on the frozen ruts and
with nailed boots it was good walking on
the road and invigorating. It was lovely
walking in the woods.

66. ‘Frozen ruts means
very cold roads

wheel marks in which frost
had become hard

the road covered with frost

d. hard roads covered with snow

* PON14VAO

63. Don’t worry. It's safe. You
won't fall.
a. finely b. deeply
c. fully d. completely
64. The future will be shaped
. by technology.
|
| a. merely b. specially
c. largely d. purely
‘65. It is true that education is
i becoming global.
a. exactly b. reliably
c. certainly d. fully

Answer the questions after reading
the passage given below:

Sometimes we went off the road and on
a path through the pine forest. The floor
of the forest was soft to walk on; the
frost did not happen as it did in the
road. But we did not mind the hardness
of the road because we had nails in the
soles and heels. Nails bit on the frozen
ruts and with nailed boots it was good
walking on the road and invigorating. It
was lovely walking in the woods.

‘Frozen ruts’ means
, a. very cold roads
i b. wheel marks in which frost
; had become hard

the road covered with frost

d. hard roads covered with snow

19D




67.

68.

69.

70.
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The floor of the forest was soft
because

a. the forest did not harden it on
account of trees

b. the traveler were wearing
boots '

c¢. the shoes had nails on their
sole and heel

d. they enjoyed walking in the
woods

We did not mind the hardness of
road because

a. we had nailed boots on
b. it was good walking on the road
c. the walk was refreshing
d. the nails bit on the frozen roads

We found great joy on account of
a. wearing nailed boots
b. the good long walk on the road

c. walking occasionally through
the forest

d. walking on frost with nailed
boots on

Sometimes we walked through the
pine forest as

a. the path was unaffected by the
frost

b. it was good walking with nails

in the boots
c. the walks was invigorating

d. it was sheer joy to walk in the
forest '

67.

68.

69.

70.
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The floor of the forest was soft

because

a. the forest did not harden it on
account of trees

b. the traveler were wearing
boots

¢. the shoes had nails on their
sole and heel

d. they enjoyed walking in the
woods '

We did not mind the hardness of
road because

a. we had nailed boots on
b. it was good walking on the road
the walk was refreshing
the nails bit on the frozen roads

=T

We found great joy on account of
wearing nailed boots
the good long walk on the road

c. walking occasionally through
the forest

d. walking on frost with nailed
boots on

Sometimes we walked through the
pine forest as

a. the path was unaffected by the
frost

b. it was good walking with nails
in the boots

c. the walks was invigorating

d. it was sheer joy to walk in the
forest




T

Find the adjective: Affection
a. affect

b. affectionate

c. affectingly

d. affectionately

Choose the correct Homophone:

72. The of a snow clad mountain
18 exciting.
Site
b. Cite
c. Sight
d. None of these
73. Prasanna had a good —— for
stage plays.
a. Trup b. Troop
¢. Trupe d. Troupe
74. He has a for writing.
a. Flare - b. Flairs
c. Flair d. Fare
75. Shakespeare has written dramas
appealing to all people of all ages.
a. Simple present
b. Present continuous
c. Past perfect
d. Present perfect
PON14VAO

71.

Find the adjective: Affection
a. affect

b. affectionate

c. affectingly

d. affectionately

| ;
Choose the correct Homophone:

72.

73.
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The —— of a snow clad mountain
18 exciting.

a. Site
b. Cite
c. Sight

d. None of these

Prasanna had a good —— for
stage plays.

a. Trup b. Troop
c. Trupe d. Troupe
He has a —— for writing.

a. Flare b. Flairs
c. Flair d. Fare

Shakespeare has written dramas
appealing to all people of all ages.

a. Simple present

b. Present continuous
c. Past perfect

d. Present perfect




76. A circle of 1m radius is drawn
inside a square as shown in figure
given below. What is the area of
the shaded portion

i
a. 4-— 7 b. 1= 7/2
c. 14— 7/4 d 1- /4
ool G La2a YO 5 3
: | e TR e T Ty
P11 22 161 18
a. 162/30 b. 162/25
c. 40/161 d. 25/161

78. For which of the following
expressions would the value be
greater if 160 were replaced by
120?

a. 1000 — 160

1
b -160/] 14—
160

1

1/]1—-—

& ( 160)
d. Both a and ¢

PON14VAO

76.

48

78.

22-D

Spargmb  ursfe, 18 b
QaEmeRrL &L @wmermy @7
s5T68DGE aerululRerarg. @
B ugHler urliuera) ereer?

\[m

a. 4- 171 b. 1 - 7/2

c. 14— n/4 d 1-7/4

oHiaGs: Loty o 2N
11 22 161 18

a. 162/30 b. 162/25

c. 40/161 d. 25/161

&QyY o drar swearur@aefie, capbe
1606 ufens 120 & wrpharred
&mBsed wHilears duperd?

a. 1000 — 160

b 160/[1+L]
) 160

1
4 & e
¥ ( 160]

d. a wppbd c




79. What is the positive difference
between the number of distinct
prime factors of 15* and the
number of distinct factors of 64°
a. 1 b. 3 c.. D d 4

80. The arithmetic mean of a set of
four numbers is 8.75. when a fifth
number is introduced to the set,
the mean of the set becomes 8.
What is the fifth number
a. 8.375 b. 8.6
c. 10.3 d 5

81. If the average of 27-x, x-8 and

- 3x + 11 i1s y, what is the average
of 2y and 2y/3
a. 4x + 40
b. (4x + 40)/3
c. (8x + 80)/3
d. (2x + 20)/3

82. If increasing 20 by P percent
gives the same result as
decreasing 60 by P percent, what
is P percent of 70?

a. 45 b. 35
c. 60 d. 50

83. If xx" =1 and x#+1, a+b
&)z, b -1 e 0 d 1

" PON14VAD
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80.
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83.
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15 vpgb 64° aarp carsEEOLW
safigs usré srreflsafiar s
Caugur® ereen?

pran@ aamsefien sl (& sryefl 8.75
DBHSTAUSTE @ TRTMME Sl lg TTED
swml @ syrsfl 8 gy flarplsafia 2pHs
LbsTaIg eTe e ?

b. 8.6
d. 5

a. 8.375
¢. 103

27-x, x-8 wpmd 3x + 1lew .EIJ'IrElﬂ y
aafie, 27 wpmid 2y/3enr sgrefl srews
a. 4x + 40

b. (4x + 40)/3

c. (8x + 80)/3

d. (2x + 20)/3

20 @ P% ofsfigsrgud, 60g P%
Ganssrain @Gy Qzren s
faos@@wala, 70er P% erener?

b. 35
d. 50

a. 45
c. 60

xxP =1 vpgn x#+1, aaild,
a+b="?

a) x b) -1 ¢ @ -dy 'l




84.

85.

86.

87.
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If 5" > 10,000 and n is an integer,
what is the smallest possible value
of n

a. 5 b. 6

c 9 d. 10

What is the length of a leg of an
isosceles right triangle with a
hypotenuse of 8 inches

a. 2\/5 b. 4

c. 4\5 d. 8

The length of each side of square
A is increased by 100% to make
square B. If the length of the side
of square B is increased by 50% to
make square C, by what % is the
area of square C greater than
the sum of the areas of squares

" A and B?

a. 90% b. 80%

c. 70% d. 150%

If an arc with length of 12 r1is
3/4*" of the circumference of a
circle, what is the shortest
distance between the endpoints of
the arc? :

a. 4

84.

85.

86.

87.
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5" > 10,000 wpmib 7 @@ WP erer
aafle, 7' Qar @aphsuls wHiY g ?

a. b b. 6

c. 9 d. 10

8 Q@ LW SfasDSE CsmeRmL
Om swuss QemCsrerr p&Canamgden
srdlen fard ereiauara ?

a. 2\/5_ b. 4

C. 4\/5 d. 8

A sgrsfler usshsafiar farses
100% ofsfiggred B sgyorgn. B
sgy ussmseiar Berjas 50%
afsfigsra C sgyd ACPQoaia,
C sgirgdenr ughuerey A wpmbd B
sgirmsaflen sl () ugluererar el
agsman sgeildlgd HEwTE GMmEED?

a. 90% b. 80%

c. [70% d. 150%

1277 farb Qaranr. @m o, @@
alLgfar 3/4 under spmeren
F1D G arafie, ) cu affl &b bl e
QoueasEiE- BeLCu o da
GODHSULE FITLD eTeme ?

a. 4
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89..

90.

gl.
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A chemist has 10 litres of a solution
that is 10% nitric acid by volume.
He wants to dilute the solution to
4% strength by adding water. How
many litres of water he must add

b 18
d. 25

a.> 1o
¢ 20

In covering a distance of 30km,
x takes 2 hours more than y.
If x doubles his speed, then
he would take 1 hour less than y.
x’s speed is

a. T7.5kmph b. 6.25kmph

c. 6kmph d. 5kmph

Two pipes A and B can fill a |

tank in 36min and 45min
respectively. A water pipe C
can empty the tank in 30min.
First A and B are opened,
after 7min C is also opened. In
how much time the tank will
be full

a. 39min b. 29min

¢. H6min d. None

The microcomputer, Intel MCS-80
is based on the widely used Intel
8080 microprocessor

8085 microprocessor

8086 microprocessor

po T

4004 microprocessor

88.

90.
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em rsardulcd 10 &llLj Sraupd
o arargl. ofd 10% seard @pl s
sfewrgn. @Qsdragde 4% ap flé
Sfeowréis Caar®@dweald, aszmen
AiLj saafeoy Gejés Geuar(Hid?
a. 15 b. 18

¢ 20 d. 25

30 &.8. girsewss s 68 X pE Y
ow &l 2 wafiCryn fHsd Csmauls
u@dpg. X sy Casjes Qo
wLisrsdeamd, Veou L gm we
Cprd gepars Csaaiu@dpdsafio,
‘X ar Gausld erewen?

b. 6.25kmph
d. 5kmph

a. 7.5kmph
c¢. 6kmph

A wppd B gpmisdr @m Qsriigow
frou 36 flLn wpmn 45 HllLb
vopbu GCsaalu@n. C Gyrew
Snpsred M waw sl QaiaFHE
30 flll_misear Q@ wsdle A wHpbd
B @gymisear Apssiiu@famper. sflurs 7
HlLb sfss C gpmi ApsaluGapg.
SuugQueiia®, 5AsT_geow Bl
2@ CEyb erener?

a. 39 Al

b. 29 AL

c. 56 ffLbd

d gapdée agen Qaoame.
@earQLé MCS-80 mewmasesfiafl,
Epssrgmd  aps HeanQsudew

SglueLurss dsraw@ererg ?
a. 8080 mewmQewed
b. 8085 mew@awdd
c. 8086 mewr@swel
d. 4004 mew@swed




92. Which of the following terms
describe 1024 kilobytes?
a. Kilobyte
b. Megabyte
c. Terabyte
d. Gigabyte

93. An internal storage consisting of
arrays of small rings of magnetic
material called ferrite is
a. Magnetic tape
b. Magnetic core
. Maghetic disk
d. Optical mark reader

94. The fastest type of memory from
the following list 1s
a. Tape
b. Semiconductor
c. Disk
d. Bubble memory

95. Which of the following printers,
are you sure will not use if your
objective is to print on multi
carbon forms?
a. Daisy wheel
b. Dot-matrix
¢. Laser
d. Thimble

PON14VAO

92..

93.

94.

95.

26-D

Epssrayip Gsrade 1024 fCGan
aulPsmar ag GHIGGHADE ?

a. SCaraul
b. Quarenul
c. Qupgreul

d. dasreul

“Quenyl.” ereriu@b snpsl Qurmener
fp aemauntisans Qsig, aflesuns
SpssuulBarer 2 arera Gsllienu

------------- GreaTLIfy.

a. &mhHs HULW

b. &rpg oereEd

c. &snps al@®

d. glgsd wris fuj

Qapfle & Caswrer Hoaasbd
ag?

a. BrLmw
b. @ops s_58
c. al(®

d @iy Heaashd

udGaum PYLOT ugansafiad ufey
Qeww Caiamr®Quwafie, Epé
sramu@elwd aps iEs QubHises
uwerL®SS Wwriiejsar?

a. Quuall efed

b. wrl - ('p'ml'_lﬂaseiﬁ

c. Geosy

d. Hoder



96.

Which language has been selected
as the basis for the Japanese “fifth
generation” computers

a. ALGOL b. COBOL

c. PROLOG d C

97. MODUILA is a

98.

99.

100.

PON14VAQ

a. Programming language.
b. Low level language

Assembly language

e

Machine language

Pixel is the short form of
a. Picture Element
b. Picture Excellent

Picture Light

e

P

Picture Limit

CTRLA+V is the command to
a. Cut b. Copy

c. Paste d. Edit

ASCII stands for

a. American standard code for
information interchange

b. All purpose scientific code for
information interchange

c. American security code for
information interchange

d. American Scientific code for
information interchange

96.

97.

R e

27-Di

guumeflw ijser
s@OWMD
SuuUNLWns  aps
vweru B Sg Serpeny ?

a. ALGOL
c. PROLOG

pog  hsmd
& anfl afl & (@5 & (3
@wrfienw

b. COBOL
d C
LTHOT erevLig)-

a. Blreréds Qo

b. saLfleme Qumryg

2 dgbfefl @wmf

Qumdl Guwmy

=~ @

Q&sa e g THs
Qsrpsefien ol flaurssid?

ETNAT

Picture Element
Picture Excellent
Picture Light

Picture Limit

o T

CTRL+V eagb sl_eoear @s50@G

Lw e (Hib
a. GalL b. psQe@B&s

c. @rL d. Agr@és

. ASCII ‘Grsirugsirr el flaur&sio

a. American standard code for
information interchange

b. All purpose scientific code for
information interchange

c. American security code for
information interchange

d. American Scientific code for
information interchange
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